Skupina: A Meno:                                               Trieda: sekunda    Dátum:
1)   10 cm3=                                 m3

2)    89g  =                                   kg

3)    100ml=                                 dm3=                                  m3

4)    1350g=                                 kg

5) Vypočítajte!

34,5 . 0,01=

2100 . 1,2=

1000 . 0,003=

1,35 :  0,001=

89 : 10=

25 : 0,5=

6,00 : 30=

30 : 6,00=

2,7 : 0,002=

Skupina: B Meno:                                               Trieda: sekunda    Dátum:
1)   100 cm3=                                 m3

2)    189g  =                                   kg

3)    10ml=                                 dm3=                                  m3

4)    8350g=                                 kg

5) Vypočítajte!

66,5 . 0,01=

210 . 0,12=

10000 . 0,003=

1,5 :  0,002=

89 : 100=

2,5 : 0,5=

9,00 : 30=

300 : 6,00=

2,6 : 0,002=

